o Eov.mvi_’tﬂ. Prq' LY
O=7-1 106-7-% |o-7-'w | o-7-2 | ©0-7-3
12,17 |
%3, 4 1T 1Y he &7 98 32,33
N7 N7 Z N7 Zr? 2l | 2nd AInE
0-7-Y O-7-5 O-7-6 G- T~ 7/ O“?*&A
| %b .f - - |
3335 2oy | 2536 L2 |28 ane |15 53 | 2336 23d
. , B
3.8 zuf |3n8  zn8| 5+ 3032 |2NT 39 |30 s
?.n{’) ':2?4.9 |
0-1-9 | o-7-lo | -7 |0-7-11, | 2712
35,36 3l 28129 3031 %7, 2$-2739%5| 2728 337 |56 293.
39 ZNI0 3nl0 = SN Emi0 InIC EEN
0-7- !C’/ G- ‘,?;-;3_ Q‘?""Z{/ O""‘?"” f ] e 7’“{
17._'.‘3._ 0 5?&}, : o6 N ét‘:’ ) , 4 240
3wk 3wl o L 3¢ %% - -
~ | 24 Ri 2 2 {! ?;m/




